Intro to Window SettingScucve.
Objectives:

e Understand what the Standard Window settings mean
e Determine which window setting to change

See how the axes move when each window setting is changed by itself
e See and understand a common Window-related error screen

Understand what the Standard Window settings mean

The standard graphing window shows —10 < x <10 and —10< y <10, with tick marks every one unit.
format f3 L6 v

zoom 6

PRO TIP: To set the standard window quickly, press

WIHDO
Amnin=-18
Amax=1a
mecl=1
Ymin=-1H

tbiset 12 $NET=%E
. SCl=
window —_

Press j to see the window settings screen: Ares=11

Here’s what the settings for the standard window mean:

YMAX
yupto 10
XMIN XMAX
x down to -10 xup to 10
YMIN
y down to -10

XSCL = scale on the x-axis, or the distance between tick marks, is 1 unit
YSCL = scale on the y-axis, or the distance between tick marks, is 1 unit
NOTE: All of these values can be changed, but...
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PRO TIP: Don’t mess with XRES, which relates to the resolution of the screen.

Determine which window setting to change

It’s possible for one, two, three, or all four window dimensions to be inappropriate for the graph.

Want to see more on the
top? Increase YMAX

Want to see more on the

\Want to see more on the right? Increase XMAX.
left? Decrease XMIN. —* g

Want to see more on the
bottom? Decrease YMIN.

CAUTION: Decreasing a negative number means making it MORE negative.
Example 1: To Decrease XMIN=-10, try -15 or -20, which are smaller than -10.

See how the axes move when each window setting is changed by itself

PRO TIP: When changing window settings, imagine the graph you expect before you input numbers.
Example 2: Increase only XMAX (to see more on the right side) and see the y-axis move left.

format 3 L6 v tblset 2 :6: s L2 Z catalog s table f5

zoom 6 window| | ¥ 2 0 ‘ [ graph
Press then

W THDO
Aamin=-1H
HMax=20
wecl=1 e b
Ymin=-1H
Ymax=1@
Yz l=1
See: Hires=l

Example 3: Increase only YMAX (to see more on the top) and see the x-axis move down:
format 3 L6 v tblset f2 & s @ s @ = @ =l Z catalog . table f5

-

zoom 6 window v v v v 2 O ‘ [ graph
Press then
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L T HOICL
Amin=-1H
H“max=10
nacl=1
Ymin=-1H
Yrmax=28
Yo l=

See: [FHres=1

Example 4: Decrease only XMIN (to see more on the left side) and see the y-axis move right.

format f3 L6 v tblset f2 ans ? L2 Z catalog . table f5

zoom 6 window| | (=) 2 0 ngaph
Press then

W THOC
Amin=-2H
H“max=10
wacl=1 e F
Ymin=-1H
Ymax=1@
Yo l=
See: [Fares=1

Example 5: Decrease only YMIN (to see more on the bottom) and see the x-axis move up:
format f3 L6 v tblset 2 é- S s @ S ans ? L2 Z catalog . table f5

- -

zoom 6 window| | ¥ v v (=) 2 0 ‘ [ graph
Press then

W ITHDOL
“min=-14H
Amax=1A
necl=1
Ymin=-280
Ymax=1H
Yaol=1
See: Hikes=1

See and understand a common Window-related error screen

IMPORTANT: Xmin must be smaller than Xmax and Ymin must be smaller than Ymax.

Example 6: Deliberately set an illegal window to see the error message.

format f3 L6 v tbiset 2 L1 Y catalog . table {5
zoom 6 window

1 0 ‘ lgraph
Press then

ERR: WIHOOW RAMGE
WIKOOL :
“Min=1a iHCuit
Hmax==1@
necl=1
Ymin=-14
Ymax=1H
Y=rol=1
See:|_fres=1 gives this error:

If the left side is x=10 and the right side is also x=10, there’s no space in between to graph!
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